Regression
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I hypothesized that the child/children who had assistance with the noodle necklace take home activity would improve their family relationships. In other words, if the child/children had assistance they would have improved relationships with their family. 
[bookmark: _GoBack]Improved family relationships decrease .0973 for each unit of assistance had during the noodle necklace activity increases. Therefore, the relationship and assistance of the activities are inversely related. This finding was significant (p = .583). The R2 statistic is .007608, this means that the model explains .7 percent of the variation of the dependent variable (improved family relationship). There is no discernable relationship between the assistance given and an improved family relationship. 
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> regress2 <- 1m(v18~v16, data=p)
> msummary (regress2)
Estimate std. Error t value Pr(>|t|)

(Intercept) 8.94720  1.34348  6.660 5.6e-08 ***
vi6 -6.09733  0.17576 -0.554  0.583

Residual standard error: 2.634 on 40 degrees of freedom
(2 observations deleted due to missingness)

Multiple R-squared: 0.687608, Adjusted R-squared: -6.6172

F—Istatisti(: ©.3066 on 1 and 40 DF, p-value: 0.5828
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